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The correct increasing order of

energies of the electromagnetic

radiation is

(A) Radiowaves < Visible <
Infrared < X-rays

(B) Radiowaves < Infrared <
Visible < X-rays

(C) X-rays < Visible < Infrared <
Radiowaves

(D) X-rays < Infrared < Visible <

Radiowaves

The energy associated with
A=7600 A is

(A) 1.58x 102KJ/mole

(B) 3.16 x 10 KJ/mole

(C) 1.68x10'KJ/mole

(D) 3.16 x 10! Kd/mole

" The transition of valence electron

is applicable in

(A) IR spectroscopy

(B) Visible spectroscopy

(C) Ultra violet spectroscopy
(D) Both (B) and (C)

(1)

g gy fafser &1 @ aean #A
2
A) M7 < 3@ < FAE <
Xt
(B) (AT < HaTHT < 597 <

S

(€) X-fFol < 399 < FI <
D) X-BT] < 97 < 3 <

A=7600 A, > 6 33 & 8
é\) 1.58 x 10* KJ/mole
(B) 38.16 x 10° KJ/mole
(C) 1.568 x 10! KJ/mole
(D) 3.16x 10* KJ/mole

e R WO 53R e
3

(A) IR R &

B) 7@ Ve ¥

(€) 9T e AR J

©) ¥ (B) T (C) *
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Which one of fhe following 1B

Py 3 @ A SREd TEI

: am
considered for non-linear atomic FA B (o JGR Gﬁ .
vibrations | (A) 3N-6 gl
(A) 3N - 6 degree of freedom B) 3N-5 waadl P Bl

(B) 3N - 5 degree of freedom
(C) 3N - 4 degree of freedom
(D) 2N - 6 degree of freedom

If the wavelength of radiation is
2.5 i, then the corresponding wave

/@(.9) SI‘J—dwﬁ"?’r‘:”E‘E’[ﬁfa -

@) 2N — 6 T F P

5. AR Rl R @ ARE 25 ),

3 3 owd § T WAl WG

number would be equal to 2t

(A) 2000 cm-! A) 2000 Ado &

(B) 3000 cm™ ®) 3000 ¥fo &
- (C) 4000 cm™ A0 4000 o %

(D) none of these 7 (D) T @ F Tl

6. Of the following, a radiation with 6. = & & - fafee Ieqaw a4-

minimum wavelength is ¥} g T

(A) IRrays (A) IR®T -
(B) UVRays /7By UV iR
(€) Xrays (Y 40 xfmd

@) y-rays Oy v

7. The relation between frequency, 7. J¢T ®@&, 31 4 mf & W=

e —————————ee -

velocity and wave number is ' HF‘*"ET%__ ‘_
_c Rt

@ v=3 w® ey
h

(B] V=— (B) Y= E‘
v ¥

© v=cy ©'v=cy |
. _

© v=1 ® v=1

US-15167-Series-P (2)
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10.

11,
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In which region of electromagnetic
spectrum of radiation the
frequencies 700 MHz and
1000 cm™ respectively exist

(A) Infrared and Radio frequency
(B) Radio frequency and Infrared
(C) Infrared and Visible

(D) Microwave and Infrared

What will be the moment of
Inertia of CO molecule having
isotopic combination C¥20!€
givenr,, =113 A

(A) 1.46x 10¥ g cm?

(B) 1.46:! 10% g cm?

(C) 1.46x% 10 gcm?

(D) None of the above

Which of the following molecules
will not show a pure rotational
spectrum

(A) HCI

(B) CO

€ CH,C!

(D) NH,Ci

Which of the following molecule
have three vibrational modes

(4) H0

® SO,

(C) NO,

D Al

(3)

X

10.

11,

RiF™ $ fge-gae Qe 2 RW
& # 700 MHz 31 1000 cm™ #
g sy e €

(A) 9T aur e sy

(B) IR omafyr w1 S

€) I T IW

(D) WIFHIT T AR

CO 3, &t f%; C20' gt
aftaser e ¢, & e et A,
Rt :r,=113 A

{A) 1.46x10%gcm?

(B) 1.46X10* g cm?

(C) 1.46% 10~ g cm?

(D) ST & § 2K

Fer & W 9 g8 TR A
R T FT 2

(4) HCl L.

B) €0

(C) CH,CI
D) NHCI

= & & aF-ar o W & A48
e ¥ o

@& HO

®) SO,

(©) N,

@ 8 L
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12. Which of the following statement
is 1ncorrect
(A) Pure rotational spectrum 18

given by polar molecules only

(B) Homonuclear  diatomic
molecule gives rotational
spectrum

(C) Linear CO, does not give
rotational spectra

(D) C,H, symmetrical molecules
does not give rotational

spectra.

13. Reduced mass is

I 1

_._+,___
m, m,

(A)

m, + m,
m, xm,

®)

m, x m,
© T

m, +m,

i.

@) m +m,

14. Microwave spectroscopy is also
known as

(A) Rotational spectroscopy

(B) Vibrational spectroscopy

(C) Mass spectroscopy

(D) Electronic spectroscopy

US-15167-Series-P (4

. - 3 g PUA ﬂq_m

18. et Z@9A ¥
11

_+v—‘
@) m; m
m, +m,
®B) T xm,
m, xm,
m, +m,

AC)
—

e '

(D)

|

m1+m2

4. TEHE AR G T
3
A) TR tRed 3 w1 &
B) 91 VFN 3 w9
C) =R SRR 3 vy o
D) e AR 3 WA

)
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16. What will be the degeneracies of --15. J =0 F @l & R Tt

the J = 0 rotational energy levels
(A) 1
B) 2
(C) 3
D) 4

16. What is the frequency of the 1\9

rotational line shown by a diatomic
molecule, having the moment of
Inertia value 16.5 X 104 g cm? the
excited molecule being in the
quantum state J =2

(A) 2.036 x 10" sec™

(B) 1.46x 10" sec™

(C) 1.66x 10* sec™

(D) None

17. Rotational constant, Bisgivenby  17.

(A)

-1
s ic o

h
PR =1
(B) - cm

W R
(©) Py cm

2

®) 8’ IC

cm!

US-15167-Series-P (3)

1 2
(A) 1
(B) 2 -
(C) 3
D) 4

16.5 % 10 g cm? % A3 AT T
= B ] am w=RE e
7] TS FEm J =28}

(A) 2.036x 10 sec”!

(B) 1.46 x 10" sec’

(C) 1.65x 10" sec!

(D) 3¢ F

ot et B, R

h
—e =1 H
(A) Py cem AT |

h -1
(B) g1 0 &

»

h-
—— cm*!
(C) i AL

2

D 31C

em AT
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18. The selection rule for a rotational
transition for a diatomic rigid
molecule
A) AJ=+1
B) AJ=-1
) aJ=0

ﬂ) Al=21

19. Which molecule among the
following molecules are microwave
as well as infrared active
(A) Br,
®) H,

(C) HEr
D) C§,

20. The number of translational,
rotational and vibrational degrees
of freedom in H,O (non-linear) is
(A 3,3,3
®) 2,3,1
€) 1,2,3
(D) None of the above

21. The vibrational frequencies depend
upon
(A) Force constant
(B) Reduced mass
(C) Dipole moment.
(D) All of the above

US-15167-Series-P

18. @W@W%WW
e @ f = e R
(&) AJ=+1
B AJ=-1
(C) AJ=0
@) ad=%11L.

\...//

3 BT 3 @ Q9-R1 37 RT3 §
S a2

(A) Br,

(B H,

(C) HBr

®) s,

20. H,0 @red) 7, A, R g
g oI F Fe A OHEA
(3
(A) 3,3,3
®) 23,1
© 1,23
(D) 390 ¥ § P T

21, T AR Pl o B
(A) T Fgas ||
(B) JTEAT FFHR W

C) fagn ot w
D) ITF T |

(6)
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22.

23.

24,

2b.
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22. ¥ATF WEIERNT ga X 2

Infrared spectroscopy provides
information about

(A)
®)

Internuclear distance
Determination of moment of
inertia

Detection of functional group
All of the above

(©)
D)

The C-H vibrational frequency of ?\3.

alkene is

(A) 2950 cm™
(B) 3050 cm™
(C) 3200cm™
(D) 2850¢em™!

The unit of force constant in CGS
unit is

(A) Dyne c¢m™

(B) Joule cm™

(C) Dyne cm?

(D) None

What will be the fundamental
vibration frequency of CO, in the
near IR spectrum of CO there is
an intense band at 2144 cm™!

(A) 6.43x10¥ S

B) 2.14x 101§

(C) 428 x101%8

(D) None

24.

23.

(7)

(A) F=AEE i & 97 §

(B) 3 A & g & 2R |

(C) W 798 qar a4 3 A
i

D) 77& =9

U # C-H 797 smht ?
(A) 2950%H.
(B) 3050 &t~
(C) 3200 & -
(D) 2850 8% -

g0 [9ais 1 @8 CGS @8 1
2

(A) T - OL

(B) I T~

(C) 3% &2

D) K

CO? T IRART ¥ & &7 3
2144 cm! | 8, CO A Wiod FH
iy ¥ 8t

(A) 6.43x 10° S

(B) 2.14x 102§

(C) 4.28x 10" S

(D) B T
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-1
96. A strong signal at 3400 cm™ in-&n 26. IR spectrum % 3400 cm™ 9T TH

IR spectrum indicates the i [ ) Jufafy §FE Faa
presence of a(n) 3

(A) Alcohol (A) @ I HL-

(B) Ether ®) T 3@ N

(©) Carbonyl ©) T FErE A

(D) Amine D) T i @

27. The selection rule for pure 27. = Tﬁh T W 3 g9 PFaw

rotational Raman spectra is 2

(A) AJ=0, £1 (A) AJ=0, 1
(B) aJ=+1 B) M=%l

(€) AJ=0, 12 A0 AI=0,22(
D) AJ=+2 (D) aJ=1%2

28. Raman spectrometer is based on 28, T WagnieT iy 3

(A) Absorption of light (A) TP B ST
(B) Transmission of light (B) T & FEO [
(C) Scattering of light (C) TFW F FEeN WL~
(D) Emission of light D) THI B T W

23. Raman shift does not depends %‘J T PR Aol 7@ s @

upon the (A) EMT RidT @@
(A) Absorbed radiation (B) NRE RRF W
(B) Incident radiation € waida AT o1
(C) Reflected radiation D) IR F ¥ B 78
{D) None

US-15167-Series-P (8)
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30. The Raman lines on the lower

31.

32.

33.

US-15167-Series-P
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frequency side are called
(A) Stokes

(BY Antistokes

(C) Rayleigh

(D) None of the above

Raman spectroscopy is generally
carried out in ........ region.

(A) Near infrared

(B) Visible

(C) Ultraviclet

(D) Microwave

The intensity of Raman peak

depends upon

(A} Polarizability of the molecules

(B) Concentration of the active
group

(C) Both of (A) and (B)

(D) None of the above

A 4358 A line of mercury excites a
sample. A Raman line was
observed at 4435A. What will be
the Raman ghift in cm™!

{4) 399cm™

(B) 4385 cm™

(C) 4435cm™

(D) None of the above

(9)

30.

31.

32.

33.

Pt amgRy @t aXE et T 1@
FeaR! &

(A) W

(B) WEw

©) W

(D) I & q I 7d

TF R I ... cER
I 2

(A) IE I
(B) 3H

(C) TUETH!

(D) ARHAY

wF e 1 dgar T s
g

(&) AT B EEAT

(B) dRd 93 F F=ar T

(© (A)aq B) A

D) IR T ] 3 T

T T THN B 4358 A @ A
i 5 AR &1 4435A W
TF & WRakd 6 &) vF R’
em-! § Fq1 2Rt

(A) 399 em™!

B) 435cm™

(C) 4435cm™

D) I § J FE T
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# Tl gU Yy
34 Separation between each rotational 34. E{f‘ﬁl‘l o WA

line 1n case of Rotational Raman
sryectTUum 18
4R
v 3R
¢y 2B
I B

3%. The wave nature of electron was 85
verified by
A) Planck
(B) Bohr
(C) Rutherford

(D) Dawvisson and Germer

36. Free rotation about a bond axas 36
possible, when bond is
(A) Pibond
(B) Double bond
(C) Sigma bond
‘D) All of the above

. The strength of a covalent bond 37
depends upon

(A) Extent of overlapping of the
orbitals

(1}) Free rotation about o~bond

”) Neither (A) nor (B)

1) Both (A) and (B)

US-15167-Series-P (10)

. REE B Tt g et ®w

S

(A) Ti® T

B) T T

(€C) wwE T

D) e 3 R Tl

. T o 3 o g O ¥

col ol
@A) a-zq L
B) &=+
(©) e
(D) IR a9t

. TF T-Wanh 70 B ofR it

3
(A) F& & ST B sEr qe L

®) o7 & T A W TH
LLd

©€) & AT (B)
(D) 2t (A) 7o (B)

https://www.ccsustudy.com



38.

39.

40.

41,

(A) o-bond -

(B) n-bond

(C) Metallic bond

(D) None of the above
US-15167-Series-P (11)
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The total number of orbitals taking

part in sp hybridization of carbon

atom 18
(A) 1
B) 2
< 3
@ 4

The VBT

(A) Underestimates the

importance of covalent
structures |
(B) Underestimates the

importance of ionic structure
Puts equal emphasis on both

ionic and covalent structure
(D) None of the above

<

A molecule or ion is stable if
(A) N,—N, =+ve

B) N,~N_=-ve

(C) N.-N,=0

(D) None

The axial overlap between the two

orbitals leads to the formation
of a

38, FAT THV] & ap AEIN H T A9

(A) 1
By 21__
() 3
M) 4
39. VBT?Z
(A) TFEEA ST B wE w wH
e
}j S §TESIH F OS2 37 5E
HIHAA

40.

L wm . . -

é':ii, Pi]li-aﬁ 3 M,?hl_,‘:-:?- 4 J—ﬂ—n 3.1_?
-, -
F i
qQr qEEFL 99 177 3

D) 3IvgF 4 F 3 T

©

;’,(4:7 N,—N,=+ve L al_>\Va

41.

(B) N,-N, =—ve
(Cy N, - 3\1-0
D) & &

A TR B TG I5T: ST T
3

A o-T9 L

(B) =-T9
() wigF T4
(D) SR # & I T

https://www.ccsustudy.com
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49. When a chemical bond between two
atoms is formed, the potential
energy of the system
(A) Increases
(B) Decreases
(C) Remains the same

(D) None
43. The MOT

(A) Underestimates the
importance of covalent
structures

(B) Overestimates the
importance of ionic structures

(C) Puts equal emphasis on both
ionic and covalent structures

(D) None of the above

44. Which molecular orbital is highest

42.m®mﬁ$dﬂﬁmﬁf

gmw%ﬁﬁﬁ%@ﬁ%

i

() TAE
) TR

€) T TR R

D) ¥ T

43. MOT
(A) TEEAS HTEAR % e H B
R B ¢
o

AT Gl 3 Wow B TR
W F@ R ‘

(C) 3t P 7 FeEdmh G
X qUET &6 ol ¢

©) I # ¥ ¥ W

4. T T AR 06 oA ¥ AN

In energy [
A) o A o
B) o* @ o*L
\v.
©) = ) ©€) =
@) =* N O
A

45. The hybridizationin CC,molecule ~ 48. CC{ 7 ¥ e ¢
i8 (A) sp
(A) sp (B) sp?
(B) sp? C) sp*L
C) sp* (D) dsp®
D) dsp?

US-15167-Series-P (12)
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46. When one s and 2p orbitals 46. 94 0% s T F 2p TG GHT o

hybridize, we get g o B B

(A) Three new orbitals at 45° to A) T T T & @ TR 45°
each other W 2

(B) Three new orbitala in a plane e T P Al R @ ad A
at 120° to each other T g 120 E L

(C) Three new crbitals in a plane C) I T F% Al & @ & o
at 109°28' to cach other o At 4 109°28' | &

(D) None (D) IHw 4 A 3K &

47, The molecular orbitals formed as  47. LCAO R |y Afas o T

a result of LCAO method obey T 2

(A) Hund's rule of maximum (A) T8 % A agaa e @
multiplicity . ®) A s Fam @

(B} Aufbau principle (C) TSt 2 et e @t

(C) Pauli's exclusion principle (D) IR T F L

(D) All of the above

48. Thesandpcharactersinthebond 48, =W T A FH ™ §q H

formed by the central atom are s T p FE°T TN &
equalin L/f‘(g) CH=CH# -
(A) CH=CH (B) CH,=CH, ¥

(8) CH,=CH, (C) CH,-CH,1

(C) CH,-CH, D) SWF §  $ T

(D) None of above

US-15167-Series-P (13)
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49. The bond present in H,0* ion
1s/are

(A) only lonic

(B) only covalent

(C) Metallic

(D) Covalent and Coordinate

50. The maximum bond strengthisin
&) 0,
®B) O,
© 0F

D) O;
The bond order of a molecule 18
given by

N, -N,
& —

51.

® =5

(€)

O) —

52. Therelation Ax.Ap > } was given
x

by

(A) Heisenberg
(B) de-Broglie
(C) Planck
(D) Hund

&

US-15167-Series-P

50, o T 4 €
A O,
(B) 0,
©) 0O

V_,/(*D) 0, L

51 @ X Tg AR ___d ECA
At 2

&) —tf]—";}" e
Y B) —3
. -~ N \ /f
© /N
2
NI _Nh
D) 3

52. §F4, Ax.Ap 2:' iz T @
g T

<

¢y e
'-3.:1;/'/ (B) -3l Z

N
™

(C) <% &
D) T2z

(14)
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53. The correct Schrodinger wave
equation for an electron with E as
total energy and V as potential

energy is
By 3y dy st
(4) 'a?“ay?*a?; 1=(E—V)w=0

(B)

©) af';' Ay +

D) ==~

54. Mathematical representation of

Bragg'sequation is
(A) nA=2dsin8d
(B) A=2dsin®
(C) nk=dsin®
(D) 2d=nAsin®

. Which of the following is/are true
regarding LCAO method

1. The symmetry .of the
combining orbitals should be
same '

2. The energy of resulting anti
bonding orbitals is more than
that of bonding orbital.

(A) onlyl

(B) only?2

(C) Both1land2

(D) None of the above

US-15167-Series_P

63. @fs S VW 3w St BB @
@ A 3 A o
BT 2

§ZZ+§§'*§‘§'+3"’@_W=O

mhz
2 P4
Gy Py oy tam
axl ay! 322 h?

(A)

(B) E-V)y=0

54. 3 FHHT F M e @
/@) nA=2deing
(B) A=2dsinb
(C) nA=dsin®
(D) 2d=nAsin®

LCAOTRY & g<g & w7 § & 39

99 2

1. T B I FED D TER
T e a9t

2, R Rda 720 snfvas s
# I A TR | SR
adt 8

(A) ¥4 1

(B) a9 2

(©) 13 288 L

©) 3G A & 3K T

b65.

(15)
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oy , 56 @ @
56. Energy of the particle in 2 0n¢ N
dimensional box is ; . e
@) B=2 AR BT )
e’ ! 1,2
. . n‘a
_na’ B) B~ gm?
o Sl 142
24 _a’h
(C) 'E__...n__‘_ (C) n-smnz
* §mn”
‘ o B,= 2
ik = oein?
=—"3 h
D) E, ST %a
inty i Ffrfeaa
57. What will be uncertainty 1In )5‘7. 30 [/HH 2| mq:
position if the electron has a speed F B, R 002%€111 :ﬁﬁﬂmﬁ -
of 500 ms~' with an uncertainty 3 @4 500 ms" %
of 0.02% ™ ¢
-
(A) 5.78x10*m (A) 578x10"m
(B) 5.78x10°m (B) 5.78x10%m
d 10 m
(C) 3x10°m (C) bX |
(D) None D) 3w ¥ & B
58. Electron is accelerated by a 58. T F&M 1000 V fye W @Ra

1000 V potential drop. What will
be its de Broglie wavelength

(A) 3.88x10" m

B) 9.1x10* m

(C) 1602x10" m

(D) None

US-15167-Series-P (16)

ﬁm.3| Q'H'c]ﬂ 2 T ﬂ'(‘l'aﬂi
1 e

(A) 3.88x10"'m

B) 9.1x10"m

(C) 1.602x 10" m

D) IF & & B T
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569.

60.

61.

US-16167-Series-P
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59. ©F F|HF TS & A T 9

The electron is revolving around

the nucleusina circular orbit. How
many revolutions it can make ;
one second

Here, vis velocity in m/a,
r is radius of orbit

v

—

) 2nr

B) —

dnr

2nT
¥

(©)
(D)

None

Energy of hydrogen atom in the
ground state is — 13.6 eV. What
will be the ionisation energy for
hydrogen atom in the ground
state

(A) 13.6 eﬁ_’:_k

(B) 6.8eV

(C) 3.4eV

D) 1.7eV

Which of the following molecules

possess permanent dipole

moment

(4 850>

® C,H,

(C) 1,3, 6 tri-nitrobenzene
D) SO,

60.

61.

(17)

A W R W Foam
qﬁ V,a"'l%mfsﬁ,

Ty

2nr

FEEIA A B W e
S - 13.6 eV 21 @ Eeq
TR T B A T Al
gl

(A) 13.6eV L-

B) 6.8eV

(C) 3.4eV

D) 1.7eV

P & @ -7 a1 = e el
G

(A) 80

® Csz

(C) 1,3, 5 tri-nitrobenzene

@ S0,
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63.
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i the
Para magnetism 1f due to

presence of

(A) Unpaired electroné

(B) Strength and symmetry Q_
ligand field

(C) Spectroscopic ground states
and the upper states

(D) Al

Dipole moment is a
(A) Scalar quantity
(B) Vector quantity
(C) Colloidal quantity
(D) None

. A solution of L-leucine (6 g/100 m#

HC() had an observed rotation of
+1.81°in a 20 cm polarimeter tube.
The
L-leucine will be, if its molar mass
is 131.2

(A) 198L1°

B) 1317

(C) 15.1°

(D) None

molar rotation of

(18)

E2mm

63.

64.

gl & FT By

@ 20 cm B JarideT & &
L-waft R (6 g/100 mé HCOH &
b o +1.81°% | LR 1 TR
gulT 4 BFT At G Hie S
131.2%

(A) 1981.1°

®) 1317

(€) 15.1°

(D) ¥ 7

https://www.ccsustudy.com
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66. Orientation polarisation ja

66.

67.

(A) 4n Nu
9kT

2
(B) 4n Ny
9kT

2
© =N
9KT

4n (Np)?
O =7

,/ps. APARG g7or B

dn Ny
9KT

(A)

47 N?
9KkT

®

47 N’y
9kT

(C)

dx (Np)*
9kKT

)

Which of the following does not 7&6, e & § 3 %“ga gt T e

possess dipole moment
(4) H,0
(B) NH,

OH

©
H

(D) All possess dipole moment

Unit of dipole moment is
() Debye

(B) Dyne per ¢cm

(C) Joule

(D) Poise

US-16167-Series-P

g
/> (A) H,0

Ay
L ®) NH,
OH

(C)@
H

(D) & Ry ampet <= B

67. faya gt R = @
(&) R -
(B) I/ T &
© @
(D) drag

(19)
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AL @TEL"f
8 Cu2+ % WQ :% q
G 173 BM ¥ i W H

68. The magnetic moment for Cuf+ 18
1.73 BM. The number of unpaired

o fAll
ze}ctgonswmbe -?f)“{)
B 1 ® 1%
Q 2 (C) 2
0 3 @) 3

: A & o
69. Optical Isomers obtained from a 75\9. n ARG C-aTY qgﬁ
compound having n asymmetric %9 e IGRE

C-atoms are @) o

@ o & =
® 2 € o
(€) n! @) (n+1)
D) (n+1)

70. Anoptically active substance is X‘?G. @ TG uind G @

(A) Urea @A) IRw

(B) Oxalicacid B) RS I
(C) Sucrose ) W

(D) Acetylenc (D) g

71. Therelationshipbetweenmagnetic 71, ﬂ"qﬁq G?I'ITi q Gl'gﬁ'ﬁlﬂ iaﬁ?ﬁ

moment and number of unpaired P der § Rw o g der

electrons will be 4
(A) e = 4/n(n+1) B.M. (A) Hg = 4n(n+1) B.M.

B) p.=m@+2) BM. ﬂ Pa=4n(n+2) BM.

2L I
C) p = n(“+2] BM. € u = \}II—(IH'Q) B.M.
1
(D - — /
) B /n[nﬂ] BM. D) n, = fn{£+2] B.M.

US-15167-Series-P (20)
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| . |
72. n Infra-red spectrum, functiongl 12 s g 3 B T 8% A
2

group region ljeg bethen
(&) 1400 emt - 4000 oy
(B) 600 con! — 1400 gpy-

(C) 1400 ¢y - 2000 cpp-!
D) 2000 e - 4000 cm-1

73. According to the Maxwell's 73

(A) 1400 cmn*—-4000 cm™
(B) 600 cm-!—1400cm™

(C) 1400 cm! - 2000 ¢cm™!
(D) 2000 cm™ —-4000 ¢cm™!

. AvfeE AT B Agwdd faar 3

distribution of molecular SR
velocities (A) IlE 3= 3 AR ol =gF
(A) Fraction of molecules having 7 \Trl‘ﬂGfT T 9 5T T
very high velocity and very o B L
low velocity is Jess B) B HRea 3t 3 fa GTEI,Gﬁ I
(B) For certain velocities, fraction g9 AR Biar @
of molecules is maximum (C) IUUEd AT
(C) Both of the above D) % | 7§
(D) None of these
74. Optical activityisa 74, YENE GEhaAr 0
(A) Physical property (&) A 7 ¥
(B) Constitutive property (B) HweTom T ® L
(C) Magnetic property (C) f«ﬁlﬁ'ﬁ ™ 2
(D) None of the above ) T ¥ B
75. The molecule whose mirror image 75, 7 fores gdor sfefe sariie 52
is not superimposable is called B B, FEART B
(A) Racemic isomer (A) WNF gaETa
(B) Optical isomer B) TFE FHEgT
(C) Enantiomer (C) FmEmT L
(D) None of the above (D) ({Elﬁ?ﬁ % {3 T

US-15167-Series-P (21)
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. g amed AT 3
76. The fingerprint region 1n IR ,}G' )
spectroscopy is _ &) 3000 9000 cm™
(A) 3000 cm' — 2000 cm! 20 !~ 1000
(B) 3000 cm™' - 1000 cm™ @) 30 1000 cm’
(C) 2000 cm™ - 1000 ¢cm™ (© 20008 \_ 600 cr”'
(D) 1000 cm™ — 600 cm™ (D) 1000cm "~ 6
77. Beckmann thermometerisusedto  77. IFIA gt T W %'
measure https://www.ccsustudy.com T 3 e
(A) Temperature difference (A) 9 AT
(B) Small temperature difference @) g W HH
(C) Actual temperature (C) aaE M
(D) Freezing point O) B
78. Decomposition of oxalic acid takes 78, SIERR@ FF I e ZETee TR
place in presence of uranyl & oy & @ &1 LT A
sulphate. The uranyl ions act as Frd o B
(A) Photosensitizer (A) 5B g #
(B) Photoinhibitor B) v A &
(C) Chemiluminescent (C) TERf® & &
(D) Fluorescent (D) wigdifia &1
79. Photochemical reaction is 79. TEW AR omviwdl = ¥ @ Ry
dependent mainly on T qem. feft 7 &
(A) Intensity of light (A) ¥ & dEm T
(B) Intermolecular collision (B) FT-AVIAE TFHT T
(C) Density €) ¥R W
©) Al D) 7 ®
US-15167-Series-P (22)
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82.
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80. afr wHly TEELE SRR @

If Einstein |ay of Photochemieal

equivalence ig strictly obeyeg by a

photochemica] reaction its

quantum efficiency ¢ ig
(A) ¢<1
B) ¢=0
© ¢=1
D) ¢>1

What is the quantum yield of the

given photochemical reaction
H,+C¢, > 2HCe

(A) very large

(B) small

(C) very small

(D) zero

"It is only the absorbed light
radiations that are effective in
producing a chemical reaction”.
This is statement of :

(A) Lambert Law

(B) Lambert Beer Law

(C) Grotthuss Draper Law

(D) Stark-Einstein Law

81.

r

(23)

ST B T TG I
mmw@qwﬁﬁ. T
e FHa & Bl

(A) ¢<1

(B) ¢=0

@ ¢=1

D ¢>1__,

RY R v TEERE AffE B
o I B L
H,+ Ct, > 2 HCf
(4) T
®) =H
(©) Fgd 31
® £y,

ol 8T B0 aE FA R

(4) d= PR @
/' AB) R Few
\_ (€) Mum-3w Bam @

D) RR-¥REE B &
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. none 83 ‘@ SFeR1 T n
58 “In photmhemlcal react10 iy R 3 FaaET 1w \3]!
molecule 18 activated by the o B E" a8 H :
Jbsorption of one quantui of ) B @ .
radistion. This statementis ® fe e
() Lambert'sLaw () wR-IREH f
B) Beer'slaw
tO Stark Einstein Law D) ﬁ'{m—aﬁ“( e 31
(D) Grotthuss-Draper Law
84. The phenomenon of photoelectric  84. SR ST Lkl
effect was successfully explained by e # R
(A) Lambert (A) A= BRI [
B) Beer ®) Rt g
(C) Planck (©) @S T
(D) Einstein (D) SEEA 31T
85. Which of the following metal is 85, 7= & ® P-4 o JeR: RN
largely used in photoelectric cell P @@ & Tgw Bl 3
(&) Ag A Ag
B) Mg (B) Mg
© P © Pb
D) Cs D) Cs
86. According to Jablonski diagram,in 86, YT WG 3 AR R sraeay
any state the spin multiplicity is 3 1 Jgaa e ¥
(A) S+1 a) S+1
®) §+2 B) S+2
© 28+1 S
D) 28+2 ‘:}g g:;
US-16167-Series-P (24)
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87. The phntochemica] Yo

88.

89.

US-15167-Series-P

. actip
those which N8 are

(A) take place
temperatureg

are involved i photography
are initiated by visible light
only

requires photoy ¢, Interact
with chemiea] 8pecies

at high

(B)
(C)

)

In fire flies the flashes are
produced due tg the slow
combustion of g Protein luciferin
in air and moistyre. The
phenomenon is known ag

(4) Photochemical change

(B) Photo combustion

(C) Chemiluminescence

(D) None of the above

The molar extinction coefficient of
phenanthroline complex of iron (1)
18 12000 dm?® mol! cm! and the
minimum detectable absorbance is
0.012. What will be the minimum
concentration of the complex that
can be detected in a Lambert Beer
Law cell of path length 1.00 cm
(A) 10°M

B 10°M

© 10*M

(D) None of the above

https://www.ccsustudy.com

87, :;BTQI Tarfa afafiead 3 8,

88.

89.

(25)

(&) = U @ Bt 3
(B) widtme) & ghiufeg
|

C) 99 3@ ywg A e &
.

D) TorE oihe @ g '@ S
foe e =i

WM A ¥ v @ B TN
% 4 T T § R4t 75 3 IR
IO B 2, TW T A A
g

(A) THE TEEEE GiEad|

(B) THRE T

(C) TemiwE wifa

D) S ¥ § Hg 7

JAE (AN D R Fhoaad &
AW CHHEFIT [F 12000 dm?
mol cm™ ¥ d41 Fr=iew weEm Id
FasEar 0.012 31 IiTREE 3
B ST 91 arh, A, q8 aed
i foraw ¥ o @ 1.00 cm 3 B
it a2

(A) 10°M

B) 10°M

€) 1M

(@) IR § & F T

https://www.ccsustudy.com
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91.

92.

93.
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Which of the following 1s a
colligative property of solution
(A) Osmotic Pressure

(B) Surface Tension

() Temperature
(D) None

For an ideal solution

(A) AH=0,AV=0

(B) AH=+ve , AV=—ve
(C) AH>0

(D) None of the above

Isotonic solutions have the same
(A) Normality

(B) Density

(C) Molar concentration

(D) None

What will be osmotic pressure
of a 8% solution of glucose
(mol. wt = 180) at 28°C

(A) 109.8atm

B) 549atm

(C) 10.98atm

(D) None

90.

91.

92.

93.

(26)

o 1 B R A

B) v
(C) AT A=l

) Iwge ¥ § B K

98°C X I (7T = 180) % 8%
e &1 qUawT 59 F

(4) 109.8 3.

(B) 64.939.

() 109877,

D) IR % § P T
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04.

95.

964

9.
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The Van't HOff
d rs {]f
and NaCt gpq o8Pty Rlucose g4, TR T NaC/ % R arz 81 i
B) 2,2 A) 1,1
© 1,2 B) 2.2
D) 2,1 ©) 1,2
(D) 2,1
“The process of degals:
N “alting of water g5, o & Pl & e &
(4) Osmosis @) T
B) Filtration (B) o
(C) Pressure distillation (€ o T
(D) Reverse osmogi, (D) Fewm T
The study of collgative properties 96, <o Tt a1 ez, T
18 useful in the caleulatiop of 5
(A) Atomic weights of the solutes &) g 3 g A
(B) Molecular weights of the (B) Ry 3 v &
solutes (C) BT & 39 X 3
(C) Equivalent weights of the (D) AEH 1 gEEET A
solutes
(D) Valency of ions
The normality of solution having  97. 4 gm %R 1. NaOH <2 i
4 gm of NaOH per literis t
@ N @
N
N N
® X ®
N © X
© 1 °
N
@) 3 )
(27)
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98. Molarity is experased as

99,

(A) gmsllitre
(B) wtllitre

(C) moles/litre

(D) none

If we take 44 gm of CO,and 14 gm
of N,. What will be the mole

fraction of CO, in the mixture

@ Y
® Y
© %

(D) None

100.Colligative properties of the

US-15167-Series-P

solution depends on
(A) Nature of solvent
(B) Nature of solute

(C) Number of particles present

in solution

(D) None

99.

% & g § €O, A
a

@ Y
® Y4
© %

D) & T

100.Rw @ orEe 1 T

(28)

2
A) s 3t mEa ©
) fadg & iy W

(C) T & SuRem FoF @ dET
T

D) #& T
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